ON Bewa @ 400
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1. ¥ Ao Tregs Frefafga 3 | fea dwm 3
WEha & MW A7

(a) ®7 fafam wiew

2. <@ F9% Uga fufiEm, 1879 = Frfafaa
1 @ fre @ ¥ Tu wfufaie Fn om a?

(@) WeEa fFu m efeEd B iR 99E
SICAEL

(b) Tl @ uiflE el w R w
faeia wewmm gifrea e

(c) FrEm aell sk A fehl, =@l
sgfwal Y fope 9 W wio|y e

(d) Rafem afed = wrEh qe@@ w©E

A

3. fitm wer T TfE-3-Fr = Pe
frofafas 3 ¥ fra @ = 9@0 & fo
e mn w?

(a} €U
(b) T
fc) v (3ta)

(d) | (@)

DFGT-S-HTG/52A

4. afdm =@, s fafen g7 1859 # wii@ R
T g1, frefafaa 3 4 fre T = w9iiE
w27

(@) FO FFEU-A f w1 B Agar 6
i

(b) wgErR s Yma (feEml) ¥ W
TAfE =0 gEY-TE R Agm FaEd
A= ad F forn gft

) i gEv-w g g fenfa @
fope = wF)

(d) Fo sgag-ud H dum @ a9t F fow
anfl

§. 1857 % fEm & A1 § 7 A 6 ‘g e’
F TV T ST 7 '

(a) Y& T

(b) e FeRgPe WiE
(c) =T @ifea

(d) N 2N

6. 1856 =1 WRIM (Twft) wwshen f=fafaa 9 |
g gHuron w smafa@ 87

(a) aTgFR qf % du @ A

(b) WGHR T A, Rrw R § A
Tt wo T o)

(c) TigFer wfved ® Oft ¥ SeEa W
R )

([d) N ToE T & U@ AT g1, AGHIR
IGFI T VT A4 )
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1. Henrv T. Colebrooke was a Professor of
Sanskrit in which one of the following
mstitutions?

fa} Fort William College
{b} Serampore Mission
foj HWashi Vidyapiih

(d) Asiatic Saciety

2. The Deccan Agriculturalists’ Relief Act of
1879 was enacted with which one of the
following objectives?

{a) Restore lands to the dispossessed
peasants

{b) Ensure financial assistance to
pcasants auring soc1al and
religious occasions

{c) Restrict the sale of land for
indebtedness to outsiders

{d) Give legal aid to insolvent peasants

3. The Damin-i-Koh was created by the
British Government to settle which one
of the following communities?

fa) Santals
b} Mundas
fc) Oraons

{d) Saoras

DFGT-S-HTG/82A

4. The Limitation Law, which wasg passed by
the Bnltish in 1859, addressed which
one of the following issues?

{a)

(b)

fc}

(d)

Loan bonds would not have any
legal validity,

Loan bonds signed between money-
lender and Ryots would have
validity oniy for three vears.

Land bonds could not be executed
by moneylenders.

Loan bonds would have validity for
ten yecars.

8. Who among the [ollowing was known
during the days of the Revolt of 1857 as
‘Danka Shah®?

(a)
(b}
{c)
(d)

Shah Mnl
Maulavi Ahmadullah Shah
Nana Sahib

Tantia Tope

6. The Summary Settlement of 1856 was
based on which one of the following
assumptions?

(a)

(b)

fc)

fd}

The Talukdars were the rightful
owners of the land.

The Talukdars were interlopers with
no permanent stakes in the land,

The Talukdars could evict the
peasants from the lands.

The Talukdars would take a portion
of the revenue which flowed to the
State.

[ P.T.O.
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. 1990 ¥ waosfy qfteg @ ufaere few

wrm £ wegfa w B o ot
fa) A M

(b) HLHTT 3T

(c) TISOAT 3T

(d) YIS AR

8. & rnam e Arnfts % aRw w) ®|

#4 * fom fafafiae 3 A F-d fe rf 6
EiGi

9. vyra * dfauyr f wuryp wEW § aiEdd

w4 h wis % way # Pafafaa 8 2
FR-T1 /8 Fu GE /7

1. 7 g8 & TEvA w0 e ¥ e
(uftftr) & @ &

2. ¥g Ada % gm "faum \a 8§ yfafafes
F M Oy R s g B

3. 48 HHz ) @iy wfedal & sfaia
wnfae R

99 fou o g2 = @ = Fd IW Ry
fa} 133
(b} 1 32
fc) Fad 1
(d) 233

DFGT-S-HTG/S52A

10. & WNEHE H IgEE w=eR (FEE) §

B, da frafafes & ¥ %8 swarwEs
siget oft g@ sftmdt % wada & fao
ATITE § WA # AR frefad @ 27

fa) T2 20 N FF=R 21
(b) A= 21 3 JI=R 22
fc) TR 19 3N =T 20
{d) FITH= 15 M I3FR? 16

11. 9 & dfawr = PAofafge 4 @ $¥8-m

w7 fifm =@ 2 & = Fm R
it 3, areEl @ FHA-EE S wEm
B freht ot s = Sfm 78 e =

wwar 27

(@) AT 14
(b) T 15
fc) =T 16
(d) 3T 17

12. fa@ R sggfam sfa @9 & 79 A e

Tt fFm?

(a) T

(b) YR

fc) o Ao =TI

(d} o Fo FHFIY
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7. The Inter-State Council was set up in
1990 on the recommendation of

10. When a Proclamation of Emergency is in
operation, the right to move a Court for
the enforcement of all Fundamental

fa) Punchhi Commission Rights remains suspended, except

{b) Sarkaria Commission

L fa) Article 20 and Article 21
fc) Rajamannar Commission

{d} Mungerilal Commission (b) Article 21 and Article 22

8. Which among the following writs is fc) Article 19 and Article 20
issued to quash the order of a Court or

Tribunal? {d) Article 15 and Article 16

{a) Mandamus

(b} Prohibition 11. Which one of the following Articles of the
Constitution of India lays down that no
citizen can be denied the use of wells,
tanks and bathing Ghats maintained
out of State funds?

fc) Quo Warranto

{d) Certiorari

9. Which among the following statements
about the power to change the basic
structure of the Constitution of India
is/are correct?

(a) Article 14

{b} Article 15
1. It falls outside the scope of the
amending powers of the

Parliament.

2. It can be exercised by the people
through representatives in a
Constituent Assembly.

3. It falls within the constituent
powers of the Parliament.

Select the correct answer using the code
given below.

(@ 1 and 3
(b) 1 and 2
{e} 1 only

{d}] 2 and 3

DFGT-S-HTG/52A

fc} Article 16

{d) Article 17

12. Who amongst the following organized the

All India Scheduled Castes Federation?

fa) Jyotiba Phule

{b) Perivar

fc) B. R. Ambedkar

(d) M. K. Karunanidhi

[ P.T.O.
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13. 919 weA, faw R sER 2018 # gen, 16, el M @@ ™ R, 2018 TH 8

fra¥ gR-HwaTS A7 fora /feeg wm gam?
e
(a) SRFA (e e
(b) TWo Hrrars =T 3R forre Frwefi
(b} sEe o We fc) = =AM
{c) WIEEEGR (d) &N T\ A T
(d) @1 (SAP) 17. 9T faumees w7 feoa &7
(a) fafen
14. TR M9 'cVIGIL' WREE R (b) 7 3R FwiR

FETEA TN
fa) &R wafedt ® Ruyes o 3fm f

g"mmaﬁﬂlﬂlf:ﬁﬂmﬁﬁ (d) sty
) ¥ Fanai 3 e % e e 4 18. ¥gF g TW Sl i aieen faw w
pe o e G i 3
fc) AT 861 A F31-F90 'weH 8§
(a) 15 e
(d) Tratem-amag usdi # amedl sman €@fkW (B) 15 ST
* I ¥ A d ok
o {c) 15 faae=n
fd) 15 AFR
15. ‘maR R
19. ¥ § ¥ F@ TEem v g R gfaem
{a) TF & &F o gon &7
(b) HdE A HAR W WA H3 Ireh T g (a) aTedfa T
(b) = g @re
fc) TF fammares RPN
(@ g @) T
DFGT-S-HTG/52A 6
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13. Paul Allen, who died in October 2018,
was the co-founder of

(af

(b}

fc)

{d}

Oracle

IBM

Microsolt

SAP

14. The mobile app ‘cVIGIL' is helpful in

fa)

{b)

fc)

(d)

conducting free and fair
¢ -tendening process in government
offices

fichting against
public services

corruplion in

removing  garbage from the

municipal arcas

reporting violation of model code of
conduct in clection-bound States

18. ‘Prahaar’ is

{aa)

{b)

(c)

a banle tank

a surface-to-surface missile

an aircraft carmer

{d} a submarine

DFGT-S-HTG/B82A

16. Who among the following is/are the
recipient/recipients of Rajiv Gandhi
Khel Ratna Award, 2018?

far)
(b)
fc)

(d)

Virat Kohli
S. Mirabai Chanu and Virat Kohli
Neeraj Chopra

Hima Das and Neeraj Chopra

17. Pakyong Airport is located in

fa)
(b}
fc)

(d)

Sikkim

Jammu and Kashmir

Arunachal Pradesh

Mizoram

1B8. The United Nations has been observing
International Day of Rural Women on

(a)
(b)
fc)
(d}

15th July
15th August
15th September

15th October

19. Who among the following is the first
Indian to win Pulitser Prige?

(a)
(b)
(c)

(d)

Arundhati Roy
Gobind Behari Lal
Vijay Seshadri

Jhumpa Lahiri

| P.T.O.
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20. Ty ufl fosfafaa 3 @ &\ @a d e
87

(a) R
(b) TaamAaTA
fc) T
(d) g
21. g1 % fram 4 fafafae § 3 #R-dA @
qdurm T 27

(@) IuvrE i e e gfaa 3 FE 9T
T8 @ 2

(b) Inirm N 397 Fraa (wea) 4 wd@ 2
{c) TN WEEA 99T § uwifad @9 §)

(d) AN 9 s & Im § FE afadd T
arm R

22, Frafafaa @ 3 #9971 F0 @ Tl 27

(@) Fa g b sfuwen A, Wi
Erciici R RGiRS

(b) & g IugfEr wed &, dmE ST

(c) T Ui Iugifien aget R, dwa sgdf
THEF Bl R

(@) wa gt Igafien sifuean @ R, dwm

s afra Iy wH-gat F awEr Al
1

DFGT-S-HTG/S2A

23. IEEA Tl % 9r A fefaigs suat 3 fean

Hifsm .
1. erdma 9%, 33 (@) 1 3 39 )

2. TR T %, IA-T0E R e,
2

3. R REAE TF TF-FA F FZA B
IR H § FA-A1/Q FUA w@ 2/E7

(a) Faa 1

b) 1 32

fc) 233

(d} =9 3

24. TF TYF I FON (EiRe-wiE FA) F fawa

1 frfafiaa wuat w fa=m Rifen

1. 3EH U I At e )
2. qums w1 difE Tife da R

3. THE UH cihaAd T g
4. THF TF WnleE @iy € g

I A 9 FA-8 Fu wh 87
(@) FFa 1 3 2

(b) *aa 1, 233

e} Faa 3 3l 4

(d) 1,2,33R4
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20. Saurabh Chaudhary excels in which one
of the following sports?

(a)
{b)
fc)

(d)

Archery
Shooting
Boxing

Judo

21. Which one of the following is not an
assumption in the law of demand?

(a}

(b)

fc)

{d)

There are no changes in the taste
and preferences of consumers.

Income of consumers remains
constant.
Consumers  are affected by

demonstration effect.

There are no changes in the price of
substitute goods.

22. Which one of the following statements
is not correct?

fa)

(b)

fc)

(d)

When total utility is maximum,
marginal utility is zero.

When total utility is decreasing,
marginal utility is ncgative.

When total utility is increasing,
marginal utility is positive.

When total utility is maximum,
marginal and average utility are
equal to each other.

DFGT-S-HTG/52A

23. Consider the following statements about
indifference curves :

1.

Indifference curves are convex to
the origin.

Higher indifference curve represents
higher level of satisfaction.

Two indifference curves cut each
other,

Which of the statements given above
is/are correct?

(a}

(b}

(c]

(d)

1 only
1 and 2
2 and 3

3 only

24, Consider the following statements about
a joint-stock company :

1.
2.

3.

4,

It has a legal existence,

There is limited liability of share-
holders.

It has a democratic management,

It has a collective ownership.

Which of the statements given above
are correct?

(a)
(b)
(c}

(d)

1 and 2 only
1, 2 and 3 only
3 and 4 only

1, 2, 3 and 4

[ P.T.O.
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25. W4 I I AYS Tifea FHE, I T Q

v Ry fom, @ 8§ qoia: fffea @ &, @
A () TF B ©

fa} &fa=
(b) R H 3 =l wWE g ogan
fc) Inaim

(d) F9H AR TR aTF g g

26. 1870 & T ¥ wrad QiU #1 arfiraey

(Feargm) forad am feran?
(a) THo ¥ worgt fafew=
(b) B FHrEgsht whi W
(c) TENTHIH ST

(d) FHRATTH 2T

27. FAFA B HEFICH 98wen & Tedifis a9

off?

(a) Td WTATSH TERET qufEE
(b) T fafemm

(c) *Em AT

(d) wfrE Tag

DFGT-S-HTG/52A
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28. f&m OdR wrws 3 g2 aEada fam, wmE

4 @ 6 wa w1 afr fava w1 I L
AN A @ e gl e ¥ P @, 9 e
= AftEEs B’ ?

fa) TEWH fa=Rifan

(b) & F AT P2

fo) Aqferga Eamad

(d) T 11 GETew

29. B g0 T Y 77 e e, T R

& 7 o Feh o wwd 2, ol o= 5 TR
it fig-wrz Tl sd # R, o @ =
ff R srarrrel A e Tl afe
A = A avawa AE R7

(a) Femw affm

(b) F-dqfew Efw

fc) wimEq

(d) FRA Ao Yo TATW

30. T, W@ ¥ YNeE (Plagues and

Peoples) ¥ o@® %4 27
(a) TXo Teo UIE

(b) T¥E T

fc) s A

(d) fafeam o o
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25. When some goods or productive factors
are completely fixed in amount,
regardless of price, the supply curve is

{a) horizontal

{b} downward sloping to the right

fc) vertical

(d) upward sloping to the right

26. Who designed the Bombay Secretariat
in the 1870s?

fa) H. St. Clair Wilkins

{b) Sir Cowasjee Jehangir Readymoney

fc¢} Purushottamdas Thakurdas

{d) Nusserwanji Tata

27. Who was the founder of Mahakali
Pathshala in Calcutta?

fa) Her Holiness Mataji Maharani
Tapaswini

(b) Sister Nivedita

(¢} Madame Blavatsky

{d) Sarojini Naidu

DFGT-5-HTG/52A

28. Which European ruler had observed,
“Bear in mind that the commerce of
India is the commerce of the world ... he
who can exclusively command it is the
dictator of Europe”?

fa) Queen Victoria
{b) Peter the Great of Russia
(c) MNapecleon Bonaparte

{d) Gustav 1l Adolf

29. Which European traveller had observed,
“A Hindu woman can go anywhere
alone, even in the most crowded places,
and she need never fear the impertinent
looks and jokes of idle loungers™?

fa) Francois Bernier
{b) Jean-Baptiste Tavernier
fc) Thomas Roe

{d) Abbe J. A. Dubois

30. Who was the author of the book, Plagues

and Peoples?

fa) W. L. Thomas

{b) Rachel Carson

(¢} David Cannadine

{d) William H. McNeill

[ P.T.O.
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32. ‘W-yE& dHF

31. fru wRd wwmEl 3 72 OF fw B o

wgm g & foem +1 Fofn ‘wve-wEa
T F AEpiw FEFR F g g0 ¥7

(a) ATENY T=1

(b) Q4 Ff

fe) Fo Fo 3T

(d) i FEd

(Fa-wn wwRm)’ o=
frafeRaa & 8 fra gem @ wafim 37

(a) 3= T

(b) T ST

fc) GTEATHS GHIGSH FT4FY

(d) <gd G ITEETEE

33. 1947 & WRdW @aad ANEYE g & T

& Tads Frafofas 3 & 29-m T 82

fa) & Hafm Afum wem #@ ¥ Ry
"R AU, 1935 # gnifya e
)

(b) ¥rE N efiFen 1 wuw R ™

(c) T dfaum ¥ fofo % g@ w1 9.
TIgF2 o)

(d) wrdR R @ wifatE
M- 91|
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34. US4 faurvea ¥ fum wiwg ¥ 3uEw ¥ w@ey

4 Fafafgs § % F9-m sam wd f 27
fa) fier w@ demmen =g § faum ofeg &)

(b) feh T=a & faum oRwg 3§ el A @
wem, faum aw 3 vt ) F9 den
* u=-foerd @ aftrs 76 @rft

(c) F weE #1 Ongeal ¥{v, wrfy e
3n wwet A o 94 fatas-gse
o Faifam @y

(d}) TA W *1 awgal 3w, wsa § Fam
R “rast g Fatfa @m)

35. w1 & wfaum % wm 1X 8§ fae m Rufor ¥

IER, THEEl ¥ s A, fsfofem § @
F-T1 e T R?

(a) qEEa & F3H A garirwr = owEn F9
% o fordft domgm & weag ) w9 g
vy fatfaa fer 98 N smazgsa 2

(b) T4 faurmza =1 @ ol O =
ften ? 5 T=EEl 3 el F 9dt B
argqfim wfet, srgEfre sEefE st
ufgensti & forg smfim frar sy s
T

fc) &% damga 9fq aul f sEty o 6
ft, 3R vER W A g R

(d} T8 fauyrmsa fafu gm0 d9mEl &
@S F R/ AEie ¥ fag
I9EY T Hhdl B
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31. Which Indian social theorist had argued

that the idea of a homogenized
Hinduism was constructed through
the ‘cultural arrogance of post-
enlightenment Europe™

{a) Ashis Nandy

(b} Partha Chatterjee

fcy T. K. Oommen

{d) Rajni Kothari

32. ‘Sub-prime crisis’ is a term associated

with which one of the following events?
fa} Economic recession

(b} Political instability

fe) Structural adjustment programmes

{d) Growing social inequality

33. Which one of the following 1s not a

change brought about by the Indian
Independence Act of 194772

{a) The Government of India Act, 1935
was amended to provide an interim
Constitution.

(b} India ceased to be a dependency.

{c/ The Crown was the source of
authority till new Constitution was
framed.

{dj The Governor-General was the
constitutional head of Indian
Dominion.

DFGT-5-HTG/52A
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34. Which one of the following is not a

correct statement regarding the
provision of Legislative Council in the
State Legislature?

fa) The States of Bihar and Telangana
have Legislative Councils.

(b} The total number of members in
the Legislative Council of a State
shall not exceed one-third of the
total number of members in the
Legislative Assembly.

{c) One-twelfth of all members shall be
clected by electorates consisting of
local bodies and authorities.

{d} One-twelfith of all members shall be
elected by graduates residing in the
State.

35. Which one of the following is not correct

about the Panchayats as laid down in
Part IX of the Constitution of India?

{a) The Chairperson of a Panchayat
needs to be directly elected by
people in order to exercise the right
to vote in the Panchayat meetings.

(b} The State Legislature has the
right to decide whether or not
offices of the Chairpersons in the
Panchayats are reserved for SCs,
STs or women.

{¢) Unless dissolved earlier, every
Panchayat continues for a period
of five years.

{d) The State Legislature may by

law make provisions for audit of
accounts of the Panchayats.

[P.T.O.
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36. wemafE FEiYFel % an 3 faafafas § @

FIF-H1 9E) 7 27

fa) ®az, fafu gm we g v=n, 4 & =0
W YTEAE qEniasml @ e w5
TFAt B

(b) < danat % T frge fre T safwal
A = wE a vl A vaftm e
g faarEt £ Sfe-vgae Aaius =
gFd 21

fc) ®HR F FH U TG =rarfi,
arftd # A favm e 23 ¥ fan,
il el # afyen F) smatia &
aFd )

(d) =afuFren £ TN w1 e e,
i@l & e Igdy = gwa B, Pr
e fru 9 F fo wieg % fem oft
wmfira &

37. % i aran whfef, el wge-dt dofat

faad-gere g swdom (gue 4d) IR
a4l §, Faed) ¥

fa) S (qol) Wl
(b) Aol (2w wleEifm
() vEFIUEE ufaifi

(d) FEqIIER

DFGT-S-HTG/52A
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38. F=fafen Fuai w famm Hifso .

1. 2017-18 & MW wma # yREwdfa
wgfeaa @ R)

2. wu-wadfi pEehfy, s e
afesri A, 78 A SFEA = @)

T # A B/ T ad B/
fa) Fae

(b) Fad 2

fc) 1 3R 2=

(dy Ad@1,382

39. Ffaflaa @ 4 F9-9) weean 12 o= 2 &

frd) oft gog-aafy § =gfe 3osdm 3a =fE ¥
fo syerey wael, swh R w wfemm A
A 34 =i ) 33 W Pk e 27

(a) Tas M9 wrEeT
{b) W& A YT
fc) SE-9F ATESYA]

(d) TR 3™ WTEeH]

40. w3 19 FR F sFgan A Fsit e 2

fa) " ufnxw
(b) | Ifd W
fc} 9MTE) gin W

(d) == F QAR
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36. Which one of the following is net correct 38. Consider the following statements :

about Administrative Tribunals? ) ) . .
1. Inflation in India continued to be

moderate during 2017-18.

fa) The Parliament may by law 9.
constitute Administrative Tribunals
both at the Union and State levels.

There was significant reduction in
food inflation, particularly pulses
and vegetables during the period.

Which of the statements given above

(b} Tribunals may look into disputes is/are correct?
and complaints with respect to (@ 1 !
recruitment and conditions of a only

service of persons appointed to

b) 2 onl
public services. () ony

{c) Both 1 and 2

fc) Tribunals established by a law of
the Parliament can exclude the
jurisdiction of all Courts to allow

for special leave to appeal. 39. Which one of the following hypotheses
postulates that individual’s consumption

in any time period depends upon

(d} Neither 1 nor 2

(d) The law establishing the Tribunals resources available to the individual,
may provide for  procedures rate of return on his capital and age of
including rules of evidence to be the individual?
followed.

{a) Absolute Income Hypothesis

{b) Relative Income Hypothesis

37. A market situation when many firms sell (c)
similar but not identical products is
termed as

Life Cycle Hypothesis

{d} Permanent Income Hypothesis

(@) perfect competition 40. According to John Maynard Keynes,

employment depends upon

{b) imperfect competition {a) aggregate demand
(b) aggregate supply
{c/ monopolistic competition

{¢) effective demand

{d) oligopoly {d} rate of interest

DFGT-S-HTG/52A 18 [ P.T.O.
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41. T F fafafaa & 4 frm fagm =
gaunYE ven f@y g 9 /oo gt

(a) |HEAT 1 fHgid
(b) Ffvaam = fagra
(c) Gl % foem
(d) TG gaiwar = Rigi
42, FoAfafy (Tenfgn) % i T % T
w1 4, T 3w dhs =t R s ww@ #7
(@) ¥cI-EaTiEH
(b) % HA-_YW
(c) T ¥
(d) T3 Hm
43. 1854 F FAm-yaw ofufmm & wrw
frafaftaa & & #19-w g Fwe?

(o) Tirdift waghan frea foean mn awn F=Am
Td IR & T # 98 fuita @
A agefa & v B 37w @A T

Y@ TH |

(b) @ afufEm 3 TRE | oT@-nw &
W T RATUEHR ht i Tl §)

{c) =E-TA F e F HaY [ qgUA ) A&
1 2= fear man )

(d) =@-wur R favig oR @ g srfien g
HIER & T o7

DFGT-S-HTG/52A
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44, 2007 % WA-3REA Tk (qm) e
* 3aia Fefafaa 4 9 =a-m fayg miva
Fm ™ @t

fa)

(b}

fc}

fd)

WA % Y go THo-HIq TIMA NI
R R EEEE TR w1 m
Afisr’ R

3 WerEs ¢ f) Uee A ud gmiE

9§99 (ford) =9 =1 stfosm wmm &
g A€ '

WIE *) A g3 &1 gl T8 ==
=g

WRA & ATVE@ (WAV]) 8 FEER *
fawm = o G

45. A % URAYE™ & oeE (WE) 999 %+ &Y
4, sgiR FeommEnft s % A fafafaa
d A FH-¥ FHuA G960 &7

1.

YRd & dfeum & fdws 4 wafis
TEraq fofdl % foe s # zeem
arared 6 sfE % A ge A

FH e AT 9 R A sk
e g & e 3= AEey &)
ke Rciccile el

AT | FEIAE & W B 390
fawam wn|

q A & T ARFA"FE G@EY F 9
O

A e m F2 T y@m W @ 3w gy

fa)
(b)
fc)
(d)

Faa 1 3R 2
1, 23R 3

3 3R 4

1, 2 3R 4
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41. Which one of the following canons of

taxation was not advocated by Adam
Smith?

fa) Canon of equality
(b} Canon of certainty
{c) Canon of convenience

{d) Canon of fiscal adequacy

42. Which Arab scientist could be given the

credit of christening the mathematical
discipline of algorithm?

faj Al-Khwarizmi
(b} 1bn al-Haytham
{c) Tbn Rushd

(dj 1bn Sina

43. Which one of the following developments

took place because of the Kansas-
Nebraska Act of 18547

fa) The Missouri Compromise was
repealed and people of Kansas and
Nebraska were allowed to
determine whether they should
own slaves or not.

{b) The Act did not permit the
territories the right to vote over the
question of slavery.

{c) The voice of the majority in regard
to the issue of slavery was muzzled.

{d) The Federal Government had the
sole authority to decide on slavery.

DFGT-S-HTG/52A
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44. Which one of the following issues was

included in the
Agreement of 2007?

Indo-US Nuclear

fa) India has ‘advance right to
reprocess’ US-origin safeguarded
spent fuel,

{b) India did not have the right to build
a strategic fuel reserve with the help
of the other supplier countries,

fcj India should not test a nuclear
device,

{d) The US will impede the growth
of India's nuclear weapons
programme.

45. Which of the following statements about

Alladi Krishnaswami Ayyar, as a
drafting member of the Constitution of
India, are correct?

1. He favoured the role of the
Supreme Court in taking
important decisions related to the
interpretation of the Constitution of
India.

2. He felt that the Supreme Court had
to draw the line between liberty and
social control.

3. He believed in the dominance of the
executive over the judiciary.

4. He favoured a dictatorial form of
governance.

Select the correct answer using the code
given below.

fa) 1 and 2 only
{(b) 1, 2 and 3
fcg 3 and 4

{dl 1, 2 and 4

[ P.T.O.
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46. ¥g% g FgAEel wifa TR HEred]

(Fefarfedl) % g8 +d ofafga & @
-8 B7

1. fafismm

2. ifd ggem

3. foh 72 % wofim @ @ o5 9 wwdq
&0

e fow e g2 & v AR w@ IW g
(a 1,233
(b) wad 2 3l 3
fc) Faa 1 3l 3
(d) wFa= 1 af 2

47. fgm 4R wyp far § fefafae § @ #9-3

<0 i@ §7

#ra Rt T £z # wEm W ad swm g
faj 134

(b) Faq | v 2

) 1,233

(d} 2,334

DFGT-S5-HTG/52A
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48.

49,

R N TE s w2,

R 0 Rl w5 F:0 ¥ fo ufyag §7
(a) TR

(b) WAEEE | I

(c) AR (TATY) TR

(d) T I=A

‘difem s’ frfefas § 3 fra R A walE

27

fa) =TH F AR

(b} ufgenalt % afirwr
(c) wfa =1 AAftwn

(d) FY&h R FAH

60. Twua fagm’ frafaflas & @ fr famg @

Helyd 27

fa) WA AR TWF RRE % f= 3w w1
FTE

() via § oft fd W ¥ " wER
RN FE

fc) THEA-gEE ¥ § REm N o
#1 #figr I8

(d) @ g ghfvsd s
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46. Which of the following are the core 48. The ‘Kyoto Protocol’ is an international

functions of the United Nations treaty that commits State parties to
multidimensional peacekeeping reduction in
operations?

1. Stabilization {a) poverty

2. Peace consolidation (b} greenhouse gases emission

=3
]

La ) o i o] e i e o Y A T
fe CALCLIU SUpPpPULL W a vol

i

3

a war fc} nuclear armaments

Select the correct answer using the code
given below. (d) agricultural subsidy

fa) 1,2 and 3

49, The Beijing Declaration’ is concerned
{b) 2 and 3 only with which one of the following issues?

fc) 1 and 3 only {a) Rights of children

(d) 1 and 2 only {b} Rights of women

47. The South China Sea Dispute involves fc) Right to development
which of the following countries?

{d} Reduction of tariffs
1. China
2. Vietnam

50. The ‘Gujral Doctrine’ relates to which one

3. Malaysia of the following issues?
4. Indonesia

fa) Build trust between India and its

Select the correct answer using the code neighbours

given below.

fa) 1 and 4 (b} Initiate dialogue with all insurgent
groups in India

fb) 1 and 2 only
{c) Undertake development activities

fc) 1,2 and 3 in Naxal-dominated arcas
(d) 2,3 and 4 (d} Ensure food security
DFGT-S-HTG/52A 19 [ P.T.O.
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51. gf-1 | -1 & @y gafqa Hifg 3 53. frafiifles % @ e o= =1 T O wheo’
gl ¥ 91 iy T g2 W w@m W wd ITW TR T SN W g 27
g
(@ 1
-1 -1
(@Y / o) (319 &1 ITEHR) () Cl
A. CH,F 1. frenfm grac {0 S
B. HCHO 2. SgETHT @ F
C. HCN 3. Penfa Rofird
b NH, 4. o se. P § A Fred vads @ e
e At 7
e
(a) UEFETE
f A B C D
2 4 1 3 b)
) A B C D |
2 1 4 3 fc) Uewa temss
."C} A B C D .['d} m
3 4 1 2
f[dd A~ B C D
3 1 4 2 55. f=fafiga # @ F9-w = ad T#i 27
fa) TR vawm, 3 N s oftm gEaw §
52. frf 73 9 sy wafa e+ A 53 @ srem zvrin 3
0 % foe Fiafafas § 4 fees w@m e
S 7 () =R wawm N fw, waka s
@ freeh Frwaea gl # Wi s g6l R
(b) TN TEE fcj 3] F1 fheR 99w IS waifos W
FEIU I R
fc) SIHRHEFI
(d) ¥Terd 9sam § @t TH-gR A 120° F
(d) Tremm HV T ayra Bt B
DFGT-S-HTG/52A 20
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51. Match List-1 with List-ll and select the
correct answer using the code given
below the Lists :

List-] List-IT
(Compound/Molecule) {Shape of Molecule)
A. CH4F 1. Trigonal planar
B. HCHO 2. Tetrahedral
C. HCN 3. Trigonal pyramidal
D. NH, 4. Linear

Code :

@ A B € D
) A B C D

3
) A~ B C D

d) A B

&0
SN

52. Very small insoluble particles in a liquid
may be separated from it by using

{a) crystallization
{b) fractional distillation
fc¢) centrifugation

{d) decantation

DFGT-S5-HTG/52A
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53. Which one of the following elements

cannot be detected by “Lassaigne’s
test™?

(a) 1

(b) Cl

&
W

{d} F
54, In which of the following, functional

group isomerism is not possible?

{a) Alcohols
(b} Aldehydes
fc} Alkyl halides

{d) Cyanides

55. Which one of the following statements is
not correct?

fa} Fischer projection represents
the molecule in an eclipsed
conformation.

(b} Newman  projection can be

represented in eclipsed, staggered
and skew conformations.

{c) Fischer projection of the molecule

is its most stable conformation.
{(d) In Sawhorse projections, the lines
are inclined at an angle of 120° to
cach other.

[ P.T.O.
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§6. AN 6 % GyEY % fAU FA-T1/B wAh

S Ere /e /&7

(q) ErETAfaeeRud ol Afsfow s
(b) FArrERH

(c) aiem v whicderse

(d) HHE SR wHcdRES

57. frafafas 4 @ #¥R-m a0 (VWR) g w

waifir it 27

(a) s (fafesr)
(b) T (STcheTH)
fc) TTEH

(d) wifeam a=2th

58. TR WiEd ¥ fofafaas 4 @ fem @ =1

FEHA A 27
(a) &I (IZTA)
(b) Fewafa (afve)
(c) HTE ()

(d) qu (FHRR)

DFGT-S-HTG/52A
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59. 3 THEY I\ gFS, TH @O F IR gEU Al
w1, 99 U B 7 e @ gER W &, @ 9
THAAA (FE) MR 30 # | 9y § dd A
R (R mn ¢ 5 =l &1 =, 91 & 99
3 sifis )

(@) &9 % gEHe %1 W1 Afus g

(b) IR % g2 M wr At @

(c) = A @l AT A FS FOWR AR
Eall

(d) e FF meaEl | fsk wom

60. TR TUAT, T qY ETE fafRTn F TR
FAM: Ay, Ayg T91 Ay, 8 29T T E, @
T\ TRl & @9 g dan fEfafaa 9 @
FA-41 7

(ﬂ) A'UV ‘:l[R ‘:;‘-Vls

b} Ayv > Ayis > Ag

fe) Ayv > A > Ayis
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56. The monomer/monomers used for the
synthesis of Nylon 6 is/are

fa} hexamethylenediamine and adipic
acid

{b) caprolactam

{c) urea and formaldehyde

(d) phenol and formaldehyde

57. Which one among the following stars is
nearest to the earth?

fa) Sirius

{b) Arcturus

fc) Spica

{d) Proxima Centauri

58. Which of the fellowing planets of our
solar system has least mass?

fa) Neptune

(b} Jupiter

{c) Mars

{d] Mercury

DFGT-S-HTG/52A 23

59. Two identical solid pieces, one of gold

and other of silver, when immersed
completely in water exhibit equal
weights. When  weighed in  air

(given that density of gold is greater
than that of silver)

fa) the gold piece will weigh more

{b) the silver piece will weigh more

(c) both silver and gold pieces weigh
equal

{d) weighing will depend on their
ImMasses

60. If the wavelengths corresponding to

ultraviolet, visible and infrared
radiations are given as Ayy, Ayg
and A respectively, then which one
of the following gives the correct
relationship among these wavelengths?

{d) Ayy <Auyis <AR

[ P.T.O.
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61. formmEEn A iy FEF @ WRE oW TE

T 100 kV & fRvar g <ia T 2
e o Wi i aifm =™ e v, 9
Vpﬁlﬁq%%aﬁﬂ'nﬁ‘ﬂ—mﬁéﬂwﬁt?
fa) Vo>V,

(b} V, <V,

65. & 91U % @ & N N 7gn % foe Frafatea

H § FA-91 Faw IR @ 27
(a) fefe

(b) TRM

{c) Faash fav=aas

fcb Ve =Vp
(d) Faifa 3@ e s g

(d) Ty favses

. . 66. F=fafaa 8 8 =1-w a, 9w f gashfas
62. af2 @ wfemt A aw B % =19 #1 $19 6 » 0°

fafa ok Bren &7
2, @
e (a) CMFH
(a) 1A|+|Bl=|A+B]
- (b) FARTE
(b) 1A|+|BI>|A+B] o R
(c) 1Al+|Bl<|A+B| (@) TR

@ |AkiB=la-5l 67. F=faflas 1 A fraht wiifs a9Ee (w9e) §

_ o femfyds woega @ #7
63. Fafafas 4 A =F-w &8 fuF 2wd=h
siferR g w= T e R7 (a) Tew
(@) F= H AP (b} wGR YA
(b) feifde =1 gyawm © Im
fc) TR T G

(d) FFEIE (deuradi)
(d) WUTe FHE %1 dyawm

68. Frafafiga # § ®A-w g, Foaard mt@l &

64. frafafaa § & FH-T FivH 37 T 9§ a7
IS US5HI & Ui 6 9@ F™ T 87
@ e (a) T TN IO
(b) TEErEW (b) TfEw g siew
(c) TEEEM (c) TGN TN YT
(d) urf (d) ¥ awm 3z
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61. An electron and a proton starting from

rest get accelerated through potential
difference of 100 kV. The final speeds of
the electron and the proton are V, and
V, respectively. Which one of the
following relations is correct?

faj V, > Ve
b)) V, < Vp
fc) V= Vp
{d) Cannot be determined

62, If two vectors ;{ and .§ are at an

angle 8 # 0°, then

(a) |A|+|B|=]A+ B

- — -+ =
(b) |A|+|B|>]1A+ B
(c} |Al+|B)<]A+B

(d) |A|+|Bj=]A- B

63. Which one of the following functions is

not carried out by smooth endoplasmic
reticulum?

fa) Transport of materials
fb) Synthesis of lipid
fc} Synthesis of protein

fd) Synthesis of steroid hormone

64. Which one of the following cell organelles

mainly functions as
digestive enzymes?

storehouse of

fa)} Desmosome
{b) Ribosome
f¢) Lysosome

(d)

Vacuoles

DFGT-S-HTG/52A
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65.

Which one of the following tissues is

responsible for increase of girth in the
stem of a plant?

fa} Tracheid
{b) Pericycle
{c) Intercalary meristem

(d)

Lateral meristem

66. Which one of the following organisms is

dependent on saprophytic mode of
nutrition?

fa) Agaricus
(b} Ulothrix
fe) Riccia

fd}) Cladophora

67. Which one of the following has a bilateral

symmetry in its body organization?
fa) Asterias

tb) Se‘a anemone

{c) Nereis

(d} Echinus

68. Which one of the following pairs of

animais is warm-blooded?
fa) Crocodile and Ostrich
(b) Hagfish and Dogfish
fc) Tortoise and Ostrich

(@)

Peacock and Camel

[ P.T.O.
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69. yra F Frafafiga # 3 |- TSy, F W=

73. aeha) arr % ar A Peafafes 4 4 wR-w

M g e @ qEigeE % e w# T }7
T s 27 (a) TERUTR U @ SR oREen
(a] TSEH Wﬂ.ﬁm%i
(b) eenfes HRETR A oeh waifus Saum
(b) ¥ 3 FR o T R
() fg (c) TR TF WM F ofm an FA um %
: o gd 4 fém )
“ (d) & WA T TR J@ R gaEr T A
dift| B

70. FREH T, W A G NAwE F foe wfwg

2, el foum 37 74, -1 | -1 F gy gaea g e
gt % R R g g2 = w@m =W oEd IW
(a) FrAfED ofi :
(b) ST He-1 -1
(vre) (I7e)
{c} FISIG!
A. e 1. WREHER
(d) T B. Uzad 2. U A
N 3 C. T 3. @ (€)
71. SO 2011 F AR WRA @ FAfiRad
A FF-71 T A JEE aren D. it 4. IR e
e
fa) T @ A B C D
(b) TasiRm 3 4 2 1
() A B C D
fc) FETER 3 2 4 1
(d) fafesn fc) A B C D
1 4 2 3
{d A B C D
72. =i e % frafafaa § @ fea 2w & 8= 1 2 4 3
?
e T e 76. foaffes 3 A FF-m, IORA-FFE
(a) Taci uda Tl T fem ot 27
(b) aferfam (a) &
(b} G
(c) W= P
(d) FTE (d) SEAR
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69. Which one of the following States of India

1s not covered by Flood Forecasting
Stations set up by the Central Water
Commission?

{a)
{b)
fc)
(d)

Rajasthan
Jammu and Kashmir
Tripura

Himachal Pradesh

70. The city of Cartagena, which is famous

for Protocol on Biosafety, is located in
{a)
(b}
c)
(d)

Colombia
Venezuela
Brazil

Guyana

71. Which one among the following is the

most populated State in India as per
Census 20117

fa) Goa
(b)
{c)

(d)

Mizoram
Meghalaya

Sikkim

72. Which among the following countries of

South America does the Tropic of
Capricorn not pass through?

fa) Chile
(b) Bolivia
fc)
(d) Brazil

Paraguay

DFGT-S-HTG/S2A
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73. Which one of the following is not cdrrcct

74.

ocowr>

about Sargasso Sea?
(a)

It is characterized with anticyclonic
circulation of ocean currents.

(b) It records the highest salinity in

Atlantic Ocean.

It is located west of Gulf Stream
and east of Canary Current.

(c)

(d}

It confined in gyre of calm and
motionless water.

Match List-1 with List-Il and select the

correct answer using the code given
below the Lists

List-1 List-11

{City) (Product)
Detroit 1. Motorcar
Antwerp 2. Diamond cutting
Tokyo 3. Steel
Harbin 4. Shipbuilding
Code :
{fa) A B C D

3 4 2 1
(b) A B C D

3 2 4 1
fcl A B C D

1 4 2 3
{d} A B C D

1 2 4 3

75. Which one of the following is not situated

on Varanasi~-Kanyakumari National
Highway?

(a}
(b}
{c]
(d)

Satna
Rewa
Katni

Jabalpur

[ P.T.O.
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76. g Fgtea gugn ¥ fou f=fafes 4 @

F -l Tgfa IugE T 27

fa) BT G0 TgE (Fwe frar foe)
(b) FFm Fa

(c) SaAfAT wm

(d) TR @rd

77, 9fé Fr¥ YR F Al w o fian F sifEa

= R W w Fa e & umfm W
RN L, @ TTH AHOHS gL T N
gaa ¥ frafaflae § @ ¥9-8 F9 @ aw
#) =T w87

1. ol foord 4 uset 9 faard afa
R R

2. g faard T 99d Wal 9 S50
4 2 R

3. ool foerd ¥ fom walm 9@ @
Sicrecin B

4., Taar ¥ 3 WHN et AE B
2 few e gz @ WM W Fd IR gy
fa 1,233

(b) ¥ 23R 3

fc) 33M4

(dy 13Ra

78. 5& f&f @ch e § ™ g T IR W

|dd AYT ATHR FAC W@ & 3R Fma A
A 2, @ gt N gz @@ R TR ®
wfRs § & @ god §7

(a) IS (YETIEF)
(b) o o Hlo

fc) difergies

(d) Tge (yHiatin)

DFGT-S-HTG/52A

79. fiafafga 1§ @ HR-1/F e oA /7

1. g+w
2. ¢
3. w

4, H-TS

4R fog v gz 1 w@n W IR R
fa) Faa 1 3l 4

(b) 1,234

(c) 2,334

(d) Fad 1

80. fFdt frga afufFnm 4, o°c wm ac®

= -45kJ/mol 3 AH® = —90 kJ/mol EI

oz wid gY o AH® quwr AS® amam @ fsl
T8 &, a8 ggau Ao w7 @m Rm W
sfufFm @a: @ & s 27

fa 273 K
(b) 298 K
c) 546 K

(d} 596 K

81. PCl; 1 # fa=ma Prenim fiftfe % e

B ¥ 3ra: p Fa (Affdee) F1 g Bm
(a) sp?
(b) sp?
fc) dsp?

(d) dsp?
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76. Which one of the following methods is 79. Which of the following is/are state
not suitable for wurban rainwater function/functions?
harvesting?

1. g+w
fa} Rooftop recharge pit 2. g
(b} Recharge wells 3. w
{¢) Gully plug 4 H-TS

{d) Recharge trench P ) . - :
Select the correct answer using the code

77. 1f one plots the tank irrigation in India given below.

and superimposes it with map of

R fa} 1 and 4 only
well irrigation, one may find that the

two are negatively related. Which of (b} 1, 2 and 4

the following statements explain the

phenomenon? fc) 2, 3 and 4

1. Tank irrigation predates well {d) 1 only
irrigation.

2. Tank irrigation is in the areas with

80. For a certain reaction, AG% = -45 kJ/mol
impervious surface layers.

and AH® = -90 kJ/mol at 0 °C. What is

the minimum temperature at which
the reaction will become spontaneous,
4. Other forms of irrigation are not assuming that AH? and AS? are

available. independent of temperature?

3. Well irrigation requires sufficient
groundwater reserves,

Select the correct answer using the code

given below. (a) 273 K
@ 1,2 and 3 (b) 298 K
{b) 2 and 3 only {c) 546 K
{c/ 3 and 4 {d) 596 K
{d) 1 and 4
81. The PClgy molecule has trigonal
78. When hot water is placed into an empty bipyramidal structure. Therefore, the
water bottle, the bottle keeps its shape hybridization of p orbitals should be
and does not soften. What type of 2
plastic is the water bottle made from? fa) sp
fa) Thermoplastic ) sp 3
(b) PVC
fc) dsp?
{c) Polyurethane
{d) Thermosetting (d) dSP3
DFGT-S-HTG/52A 29 | P.T.O.
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82. f&dl e yeh s (v, 0, o) W 6, z-31&

¥ gf|: yd@ FM F IO R AU o, x-HY
& Ta1 gan foivfm Fo =5 e ) 58 Rl
i P& y-ves fra wEn frefia €m?

fa) Psin@sina
{b) Psin@cosa
{c) Pcos@sina

{d} PcosBcosca

83. % ey ha ¥ oy Pfafae § 4 FR-w

FuR wE At 27
(a) ®ft @ vl A nfa gEEm A 2

(o) @t o et fi nfm F9id v @
oy

(c) @ et f) ufew S 3@ @ R

(dp IR ¥ F| IR w@ T
A R

84. ANHSE &1 &7

(a) = ¥ WERY R A W A T
o smpfar (%)

(b} @ Al A e § w e onfa, |
ged | wHgrEd 78 A '

(c) T disa F TE H W W
fadm ampfa

(d) s B ari, TE iR 3qwd & fufy %
FRO A A T @ e asfa

DFGT-S-HTG/52A
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85. &% ® fram Frfafea 3 3 fees fog v 27

(@) VioEw-aE TF F Had GHEUTGE
(b) WU gfoad-aE =%
{c) TiEE-TE T F Y WeETEd &

(d) vema-om 9% % TR & &
qY-TY I oA (WfEE) aa

86. fX=a A & A A F=fafea 4 @ =R-w

Fuq Td 27

(@) fedm a3 TR 2 3, | aEEem
B & 3ufBm@ R 2

(b) T A WA B &, A Do Wo Yo &
Wy WA & ¥ A AR ' 2

(c) TER 3 WER A, S I #
fafte ¥ wy dag ¥R ¥

(d) TR 3 IR R § N e A
FETRREE F A9 TG €4 £

87. dmreifa & s # Frafafes § @ FR-w w9

w27

(a) Mo o "o # 3uftra Arenfem Faa
FTRIE 96 F1 6 8, AfFd $EA
BRHATFARS FI A€ |

(b) Mo o o T PR, HAiadisH
3l FEA SRR, SF1 98 F HRAl
]

{c) 3o o Ho T MMl Faa FrEA
BIR3THATES qE H THhal €|

(d) drirchfen Faat wR aa % e wgw
g &, 3 5 il % =6 & Ry
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82. In spherical polar coordinates (y, 8, o),
8 denotes the polar angle around z-axis
and o denotes the azimuthal angle
raised from x-axis. Then the

y-component of P is given by

fa)
(b)
fc)
(d)

Psin@sina
PsinBcosa
Pcosfsina

PcosBcosa

83. For an ideal gas, which one of the
following statements does not hold

true?

fa) The speed of all gas molecules is
same.

(b) The kinetic energies of all gas
molecules are not same.

{c) The potential energy of the gas
molecules is zero.

{d} There is no interactive force

between the molecules.

84. What is a constellation?

(a)

(b}

c)

(d)

A particular pattern of equidistant
stars from the earth in the sky

A particular pattern of stars that
may not be equidistant from the
earth in the sky

A particular pattern of planets of
our solar system in the sky

A particular pattern of stars,
planets and satellites in the sky
due to their position in the space
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85. The Hooke’s law is valid for

fa) only proportional region of the
stress-strain curve

(b} entire stress-strain curve

fc) entire elastic region of the stress-
strain curve

{d) elastic as well as plastic region of
the stress-strain curve

86. Which one of the following statements
regarding histone proteins is correct?

fa) Histones are proteins that
are present in mitochondrial
membrane.

(b) Histones are proteins that are

present in nucleus in association
with DNA.

{c) Histones are proteins associated
with lipids in the cytosol.

(d} Histones are proteins associated
with carbohydrates in the cytosol.
87. Which one of the following statements

regarding haemoglobin is correct?

fa) Haemoglobin present in RBC can
carry only oxygen but not carbon
dioxide.

(b} Haemoglobin of RBC can carry both
oxygen and carbon dioxide.

fc) Haemoglobin of RBC can carry only
carbon dioxide.

{d) Haemoglobin is only used for blood
clotting and not for carrying gases.

[ P.T.O.
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88. T% wgw Qued ¥ WEW F TH H G 91. TFaW 6 gd Frwa frafafea & 3 &= D

wgn, Prafafga 4 @ ¥R-71 87 w27
) —srfirgras S (a) Hawen wFam ofvadft & F |y afem
@ o e - B s
FFATA AT YaA1 &1 AT Fd ¢
(b) v a—ame—fem Afaw— (b) THAT ¥ W M R TEaE ) tE
Al (3113 1% Wgae) FEa
Hd—afigras du—fwr Afam— {c) T, Hga wAE@ wnsil @ fR gu 3=
“ C\eeal T F TF F5F § T 7 8
(d) TR (FEA) wftg Iomada wwham
(d) ﬁﬁm—aﬁgmﬁa—ﬁmuq%m;&m P e Y T

92. sadfl IwEREd Fm wEA  (FTOIEG
89. frofafaa § @ FH-T Fv 780 7 it fo offAmaT) #1 qeAE Fel

fea &7
() afe, gFa 1 o= g ) fa) T4 g
(b) fem, s F Iwm B R (b) wrET
= (EE) % A o B
fc) I, A2 (RE) F 9= A 39 €A R p—

(d) gfem, ¥53 iR g F I Ba R
93. Frguzed T, AW 8 FE wfE B ¥
frafafaa & ] F9-71, 3 ) garag alF

90. wia #H fi=fafa # | F-d & @, A R} gforrfa w27

srerfer ST § Wfa &7 (o) WOH % TR A 7@ A dewdt g
1w

(a) Eat
(b) IHEAT TN F THE
b e (c) dg A wafyg v 3ud wH g = H
() R wn wfa g P
(d) Tl fadw wma ol M @ agEes #
(d) WELA T i 7
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88. Which one of the following is the correct
sequence of passage of light in a
compound microscope?

fa) Condenser—Objective lens—Eye-
piece—Body tube

(b} Objective lens—Condenser—Body
tube—Eyepiece

fc} Condenser—Objective lens—Body
tube—Eyvepiece

(d) Eyepiece—Objective
tube—Mirror

lens—Body

89. Which one of the following statements is
correct?

fa) Urea is produced in liver.
{b) Urea is produced in blood.

fc) Urea is produced from digestion of
starch.

fd) Urea is produced in lung and
kidney.

90. Which one of the following river valleys
of India is under the influence of
intensive gully erosion?

{a} Kosi
{b) Chambal
fc) Damodar

fd} Brahmaputra

DFGT-S-HTG/52A

91. Which one of the following may be the
true characteristic of cyclones?

fa} Temperate cyclones move from
west to east with westerlies
whereas tropical cyclones follow
trade winds.

{b) The front side of cyclone is known
as the ‘eye of cyclone’.

fc} Cyclones possess a centre of high
pressure surrounded by closed
isobars,

(d} Hurricanes are well-known tropical
cyclones which develop over mid-
latitudes.

92. The Headquarters of the International
Tropical Timber Organization is located
at

fa} New Delhi
fb) Yokohama
{c) Madrid
(d) Jakarta
93. Atmospheric conditions are well-governed

by humidity. Which one among the
following may best define humidity?

{a) Form of suspended water droplets
caused by condensation

{b) Deposition of atmospheric moisture

fc) Almost microscopically small drops
of water condensed from and
suspended in air

fd) The moisture content of the
atmosphere at a particular time
and place

[ P.T.O.
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94. I el F du (giiem) snfeard) wqg ?7
(a) TGS
(b} ifsm
(c) uiTm ST
(d) ¥EHA & Prpar g
95. fi=fafaa # & fra TR F wRa # R W
% g § afafem Tt fen mn a7
{a) Tacam
(b) SER
fe) THAT
(d) FaGH
96. FTWA 2011 ¥ HLER W H FAEET F

amun W ettt ol oggl 3§ @ aradd
F0 & v fomm #a-m 27

(a) Teef-pard-Hreenma-—<wd
(b} TrE-R-Frera-=ad
(c) AT TG-S

(d) FrEABO-—AE- -
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97. g1 A gA-1 F Wy g Hfeg i
gl * 9 Rg ™ gz W W = IW

g -
-1
(¥ =1 TR
faadfr=
™ (F)
ferda
CEiD|

c o w >

1

(a)

(b)

fc)

(d)

v o —~w NE =

Wy W sp b
-0 RO =0 0O

1.

2
3.
4

20 +0 WO WO

T=h-1
(3gTETOT)

MR 3=

. TTEE |

gatyef) Fie

. Hmae #wie

98, Prfaftga § @ FR-wm Agw, JTHEA CUEEE
3 Pram fowgg F gug e R?

(a) B° N A&

(b) 10° N H&m®
fc) 12° N #\g5®
(d) 13° N &

99. =M 115 km # g Te 3l faakemad
qrell @ e R el R R

(a) o Hio o
(b) <TEW ° AR T

fc} T
(d) T
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94. The Shompens are the vulnerable tribal
group of

fa} Jharkhand

{b} Odisha

fc] West Bengal

fd) Andaman and Nicobar Islands

95. Which onc of the following cities was not
included in the list of smart cities in
India?

fa} Silvassa

{b} Jorhat

fc) Itanagar

{d) Kavaratti

96. Find the correct arrangement of
the following urban agglomerations
in descending order as per
their population size according to
Census 2011. https://www.pygonline.com

fa} Delhi-Mumbai-Koclkata-Chennai

{b) Mumbai-Delhi-Kolkata-Chennai

fc) Mumbai-Kolkata-Delhi-Chennai

{d} Kelkata-Chennai-Mumbai-Delhi

DFGT-S-HTG/52A

97. Match List-I with List-11 and select the

correct answer using the code given
below the Lists :

List-] List-Ii
{Type of Lake) {(Example}
A. Tectonic 1. Lonar Lake
B. Crater 2. Gangabal Lake
C. Glacial 3. Purbasthali Lake
D. Fluvial 4. Bhimtal Lake
Code :
@@ A B C D
4 1 2 3
(b} A B C D
4 2 1 3
fc) A B C D
3 1 2 4
[ A B € D
3 2 1 4

98. The Andaman group of islands and the
Nicobar group of islands are separated
by which one of the following latitudes?

fa} 8° N latitude
(b) 10° N latitude
fc) 12° N latitude
(d) 13° N latitude
99. Damanganga Reservoir Project with

about 115 km of minor canals and
distributarnes is located in

fa) NCT

{b) Dadra and Nagar Haveli
{c) Puducherry

(d) Goa

[ P.T.O.
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100. #r sew fifez ¥ gay # Fafafaa wu=t w

ﬁﬁﬂﬁm:
1. TN 9l ¥ 3aid W & HERe
0t ¥ wa ¥ FBfde fen T Ry

2. W gt A FEe e R el T
T 7@ wE R

3. W@ Iewm foiee w1 gewem O,
TEe A fam R

I B @ B-w/A FuA @ ¥/
(a) 94 1

(b) e 1 3 2

fc) ae 2 33

d) 1,233

101. i @ fra gurnsE g0 anfrE-ufmET wEye

AyaARMFFamssd
Ay foEmn mn?

(a) TH O

(b) 3MZo Fe THTA
fc) Jo To IT®
(d) wrE faw

102. frfefiaa § @ fem fem g gweEl afR

Tga #19 wefera fEn e &7

(@) vuEEh FEfea (do e o)
(b) TEW G FEUR WU

(c) T waTeTH

(d) g e afeg (o Sle o)
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103. ifwEm Afta Fofl 8§ v * afifea §Es

fiem % dgau # faofafad 4 @ s9-m F0
wél 27

(a} & ad 2018 ¥ wafera fFa mn)

(b} TWE P WA T FN g FRm
(c) T F am T fem ™ W)

(d) T& TIH TY T AR o1

104. TEG #RA 3w F wau § fafafaa @ &

FH-| FA g TH 7
(a) & T od 2010 # g8 6

(b) ¥E TEIE WEW qq I F wEM Y
waftm wwel % wrh 3iv Ty freem A
i R

() @& =afwdl st wwfdt w1 g ol &
foe Tga st gamEsn 2 W faEr W
HM B

() a% fafra wfem dfem, 1908 & %
fauifa fFnag @ S 2y

105. s 3 wwil U=a F wau #, WA F @haum

¥ Igadl % =) #§, Freafafee 4 A W
FeA vl T 7

(@ T A A F Ryw = wen T8
TR &

(b) UM, AftEm@ awm TR F F=EY 7 T
¥ wif il ® wg=de 35A IO
fadre arfirem wem e 21

(c) ST 19(1)(f) F g fem ™ R}

(d) T8 F dfqum & "o & o
F =3 368 WA T R
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100. Consider the

following statements
relating to Coal India Limited :

1. It is designated as a ‘Maha Ratna’
company under the Ministry of
Coal.

2. It is the single largest coal-
proeducing company in the world.

3. The Headquarters of Coal India
Limited is located at Ranchi,
Jharkhand.

Which of the statements given above
is/are correct?

fa) 1 only

ft) 1 and 2 only
fc) 2 and 3 only
{d) 1,2 and 3

101. Afro-Asian solidarity as a central element

of India’s foreign policy was initiated by
which of the following Prime Ministers?

{a) Narendra Modi
{b) 1. K. Gujral

fe} J. L. Nehru

{d) Manmohan Singh

102. The Prime Minister’s National Relief Fund

is operated by which one of the following
bodies?

(a) The Prime Minister's Office (PMO)

{b) The National Disaster Management
Authority

fc) The Ministry of Finance

(d) The National Development Council
(NDC)
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103. Which one of the following statements

with regard to India’s surgical strike
mission inside Pakistan Occupied
Kashmir is correct?

{a) It was conducted in the year 2018.
(b} 1t was led by the Indian Air Force.
fc) It was not given any name.

fd) It was sanctioned by the United
Nations,

104. Which one of the following statements

about the National Green Tribunal is
not correct?

fa) It was set up in the year 2010.

fb) It is involved in effective and

expeditious disposal of cases
relating to environmental
protection and conservation of
forests.

fc) It may consider giving relief and
compensation for damages to
persons and property.

(d} It is bound by the procedures laid
down under the Code of Civil
Procedure, 1908.

105. Which one of the following statements

about the provisions of the Constitution
of India with regard to the State of
Jammu and Kashmir is not correct?

(a) The Directive Principles of State
Policy do not apply.

(b) Article 35A gives some special rights
to the permanent residents of the

State with regard to employment,
settlement and property.

fc} Article 19(1)(f) has been omitted.

(d) Article 368 is not applicable for
the amendment of Constitution of
the State.

[ P.T.O.
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106. 1021 #, frafefan # & frg yao & 109. -1 # TH-N F wy gakm Ffdg s

s Y s fim e R efv Wi gl & = fag o g | owEm A 3w
() wea oy W e arfe &l % gh
UNEed TEAH A Heh !
-1 Feh-11
fa) HEHIEE (m) (W)
fb) =TI A, T EEEATE 1. SEIEES 466§
TR, HE-1,
(c) =t = 1889-1947
@ <o B. 9@ MY 2. ;sfmr—rrfﬁgvﬁﬁ_m:rz
et a1 wigH Ffem
c. 2z withs 3. z a2t w2 whiw
107. fefafas A & e g8 % 2 9= & @, 57 I 729,
e F wn FE AR g amy FE@ F T, 1926-1934
aeitE o ¥ ®9 § w@m R F foe us .
) () ©vF % w9 A A @) D. TR WS 4 ”3:3;"’?"”‘”3
) é7
(a) TA-7UA G& we
@@ A B C D
(b) A=l g 2 4 1 3
M) A B € D
(c) Toe-MTE g8 2 1 4 3
A B C D
(d) Te-HETH I8 (C} 3 01 4 2
(d A B C D
3 4 1 2

108. fafew wwa A Frm oerEifam A 3w wikam &
frdig frn ot Prmen w1 gfEm T aEf AR 110. ‘@NTE T F ARY ¥R A TEA AE T F

feg Tt &l AR F? 09% & wifu® Siari 3 freghem-ghaa ww
= o ) Pafafas 8 @ FR-w o8 T R
{a) WA 3FEA TEFR TH % T 27
(b) fow=t zam @n fa) T
(b) @
(c) WIS AR FHAH AR o f .
(d) Th eae fead (d) WA WEE
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106. In 1921, during which one of the 109. Match List-I with List-II and select the

following tours, Gandhiji shaved his correct answer using the code given
head and began wearing loincloth in below the Lists :
order to identify with the poor?
List-I List-11
(a) Ahmadabad (Author) (Book)
A. Sekhar 1. Jawaharlal Nehru :
{b) Champaran Bandyopadhyay A Biography, Vol-I,
1889-1947
f¢/ Chauri Chaura B. Sarvepalli Gopal 2. From Plassey to
Partition : A History
{d) South India of Modemn India

C. David Hardiman 3. The Ascendancy of
the Congress in

107. Simla was founded as a hill station to use Uttar Pradesh,
as strategic place for billeting troops, 1926-1934
guarding frontier and launching Ga . .
campaign during the course of D. Gyanendra 4, ndhi in His Time

Pandey and Qurs

{a) Anglo-Maratha War Code

A B C D
b} Anglo-Burmese Wa fa)

{b} Ang urme r 2 4 ) 3
fc) Anglo-Gurkha War ) A B C D
2 1 4 3
(d) Anglo-Afghan War fc) A B C D
3 1 4 2
d) A B C D
108. Which politician in British India had 3 4 1 2

opposed to a Pakistan that would mean
“Muslim Raj here and Hindu Raj

110. Eight States have achieved more than
elsewhere”?

99% household electrification prior to
the launch of ‘Saubhagya Scheme’.

fa) Khan Abdul Ghaffar Khan Which one of the following is not among
them?
(b) Sikandar Hayat Khan fa) Kerala

{b) Punjab
{c/ Himachal Pradesh
{d] Rafi Ahmed Kidwai {d) Madhya Pradesh

{c) Maulana Abul Kalam Azad
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111, 3ER 2018 #, wm ® fFad gme & fow 113. W@ R TR MY A 7¢ U A9 F am H
wge Y AHa dAfuEn qieg & we| ¥ w0 A frafafiaa Fyt w fa=n Fif

fon et g % A GEIF geaT Yo &4 &

fore st 60 af ok TR fuw # Iy F

() G T gyl # I =y g A Affeea awn
FmH ¥ FRU g arcn e e & A

b am T grerr 33 & forg gy gt sy & et ot 7'

i FioT afte Tl & T gamaer g g
F awef FAt &, S wwdlg S dm A

fc} (THo 3o Hio HTFo) H FEFR TR W
amuif sty afr @ g2 Fu ghfrea

(d) A4 Jur/MfAeT & WrayE & "reaw @ gar &
T QST ) IEETAY
{a) TR @A A A

112. WRd ofy gdwfE &3 39 =0 (Mo do (b) I Ta FE A

flo amge) ¥ 4R ¥ Prafafas FuAl | feEw :

Hifom (c) - (Reafefad) s s
(d) TEE q@is qen

1. T waEeh wdE sA-ahefy ofdse
(fo o Ho Fo Wo) A FAHTT 14 ¥ F wam PR TN SES Aw

W (2018) ¥ 91A I @ TF T TEN @Y @
2. w dnR WedEm sfufam, 1860 A @ e <fim?
¥ adR @ =@ aEnRk ¥ w3 (@) e S
* (b) W Remaa
T & § A-W/A T wh A/ (c} ~h g
(d) T fan
(@) ¥4 1
115. FfFw-fagm ¥ R o Fo IFH W
gt g e g wer fen S 27
(b) FaA 2 ' _
(a) F @ FUF FAO TAE
e} 1 3R 2 3 _ (b T 3 gy Fe wATE
(c) @ TE IREN FO JAed
(d) ad1, 382 (d) Tt T @ Jearg aRadq e
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111. In October 2018, India was elected as a 113. Consider the following statements about
member to the United Nations Human a scheme launched by the Government
Rights Council for a period of of India :

It was launched to provide social security
duning old age and to protect elderly
(a) five years persons aged 60 years and above
against a future fall in their interest
income due to uncertain market
(b) four ycars conditions. The scheme enables old age
income securnity for senior citizens
through prouvision of assured pension/
fc) three years return linked to the subscription amournt
based on government guarantee to Life
Insurance Corporation of India (LIC]).
(@) two years Identify the scheme.
fa) Pradhan Mantri Swasthya
Suraksha Yojana

112. Consider the f{ollowing statements (b) Pra.ldhan Mantri Vaya Vandana
about the Bureau of Pharma PSUs of Yojana
India (BPPI) : fc) Liveability Index Programme

{d) Rashtriva Vayoshri Yojana
1. 1t is the implementing agency of
Pradhan Mantri Bhartiya 114. Who among the following won India’s
Janaushadhi Pariyojana (PMBJP). first ever gold medal in the
International Youth Olympic Games
2. It has been registered as an (2018} held in Argentina?
independent society under the {a) Neeraj Chopra
Societies HCEiStration A'Ct. 1860, rb) Praveen Chitravel
) {c) Jeremy Lalrinnunga
Which of the statements given above i
. (d} Suraj Panwar
is/are correct?
115. E. K. Janaki Ammal National Award on
fa) 1 only Taxonomy is administered by the
fa) Ministry of  Agriculture and
Farmers Welfare
(b) 2 only f{b) Ministry of New and Renewable
Energy
{c) Both 1 and 2 {c) Ministry of Health and Family
Welfare
{d) Ministry of Environment, Forest
{d} Ncither 1 nor 2 and Climate Change
DFGT-S-HTG/582A 41 [ P.T.O.
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116. YR8 & @fF= wfsw wwm o wm o+ 119. TWUFAEH 59 sRA™ g9 (Fo o Jo To

frafafas 3 | F-w1 gm wé gAfem ff 27 arde) F v Fr=fafaa & & #R-3 #7
fa) Tl AR et : MR 1. sEws TR W 8 d% wE gees e
M feft st d fges Tafean @

(b) TH Yerzge AWM EgA : Tem
(o SR ferasica  : @

IqeT=Y A

2, TUEAYY WReA MW Haell o

(d) g ifem fafeeh widm : WwEm TRfE oI FertEa afm
3. W% 99 U 9RER F) @R 6 AR |
117. i e i MA@ Aigg s ¥ 5,00,000 % ¥ Q@A dH Iy
fou frsfafea #§ & *R-@ GO (arm) T A
¥ v - faremm Tm o Wit A #
4. - T
fa) FIg fe=rR aRm
(b) Fure =g 13 g T F2 F vE@m = Eh IW g
(c) ¥& T8 (a) ¥Fa@ 1 33
(d) GF-gegw an fawy (F2-Ue-umsy
fesfrs arseE) () 1,233
118. 2018 @%, frafaftas # ¥ fm W 3 (c) Faa 234
TNEAREE W ¥ wEd i T 39 R
s (Aw) = R 37 (d) 2,334
1. e
2. FATE
120. 2019 # 119 faam (BRICS) firat wiiem 6
3. gtfen s fred g e
4. IR
i
13 R o g e @ IR P @
fa) 1,223 {b) w4
afr
(b) FEA 2 4 © e
(c) Faw 134
d 1,234 (d)
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116. Which one of the following pairs of 119. Which of the following are the benefits of

military training institute of India and the Pradhan Mantri Jan Arogya Yojana

location is not correctly matched? (PMJAY)?

fa) Army War College : Mhow 1. Free treatment available at all

. . ubli d panelled ivat

(b) High Altitude + Gulmarg anpliialsa?n tir::s of cn:ed privese
Warfare School

b A A Tvafa o . Dheoes 2. Cashless and paperless access to

{c} Army Air Ueélence | rune ] = .
College quality health-care services

(d) Rashtriya Indian : Dehradun 3. Government provides health
Military College insurance cover of up to ¥ 5,00,000

i per family per year
117. Which one of the following viruses is 4. Pre-existing diseases are not

responsible for the recent death of lions
in Gir National Park?

covered

Select the correct answer using the code

fa) Canine Distemper Virus given below.

(b} Nipah Virus
fa) 1 and 3 only
fc) Hendra Virus

{d} Foot-and-Mouth Disease Virus (b) 1,2 and 3

118. Till 2018, which of the following {c; 2 and 4 only
countries have legalized the possession

and use of recreational cannabis? (d) 2, 3 and 4
1. America

2. Canada

3. Nigeria 120. The 11th BRICS Summit in 2019 will be
hosted by

4. Uruguay

S_elcct the correct answer using the code (@ China

given below,

fa) 1, 2 and 3 (b} Russia

{b) 2 and 4 only
fc) Brazil

fc/ 1 and 4 only

{d} 1, 2 and 4 {d) India
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English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one carrect response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, vou have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

() There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer cven if one of
the given answers happens to be correct and there will be same penalty as above to that
question,

(i) If a question is left blank, 1.e., no answer is given by the candidate, there will bc no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

e 2 ;AR g T wara 2 i & REYs U w9 v

https://www.pyqonline.com



